



## On Minimal Non-Soluble Groups, the Normalizer Condition and McLain Groups \*

AHMET ARIKAN

(Received Jan. 15, 2016; Accepted Aug. 15, 2016 — Communicated by M.R. Dixon)

### Abstract

We prove that a minimal non-soluble (MN $\mathfrak{S}$  in short) Fitting  $p$ -group  $G$  has a proper subgroup  $K$  such that for every proper subgroup  $R$  of  $G$  containing  $K$ , we have  $N_G(R) > R$ . In other words,  $G$  satisfies the normalizer condition modulo  $K$ . We also give a positive answer in McLain groups to a question aroused from the works on MN $\mathfrak{S}$  Fitting  $p$ -groups.

*Mathematics Subject Classification (2010):* 20F19

*Keywords:* McLain group; normalizer condition; minimal non-soluble group

### 1 Introduction

Let  $G$  be a group and  $\mathfrak{X}$  a class of groups. If  $G \notin \mathfrak{X}$  but for every proper subgroup  $K$  of  $G$  we have  $K \in \mathfrak{X}$ , then  $G$  is called a minimal non  $\mathfrak{X}$ -group and is usually denoted by  $MN\mathfrak{X}$ . In the present paper we consider MN $\mathfrak{S}$  Fitting  $p$ -groups, where  $\mathfrak{S}$  denotes the class of all soluble groups. Locally finite MN $\mathfrak{S}$ -groups are considered mainly in [1]–[6] and it is not known yet if such groups (in particular, Fitting  $p$ -groups) exist and it is also not yet known whether they must satisfy the normalizer condition. In the present note we obtain the following partial answer:

---

\* The author is grateful to the referee for careful and detailed reading, and many useful suggestions for the proofs of some of the results

**Theorem 1** *Let  $G$  be an MN $\mathfrak{S}$  Fitting  $p$ -group, then  $G$  has a proper subgroup  $K$  such that for every proper subgroup  $R$  of  $G$  containing  $K$ , we have  $N_G(R) > R$ . In other words,  $G$  satisfies the normalizer condition modulo  $K$ .*

In [6], MN $\mathfrak{S}$  Fitting  $p$ -groups satisfying the normalizer condition are considered and it is shown that such groups with some additional conditions do not exist.

Let  $G$  be a group,  $K$  be a subgroup of  $G$  and  $x \in G$ . We define *the center modulo  $K$*  as

$$\begin{aligned} Z(G//K) &:= \{g \in G \mid [g, x] \leq K \text{ for every } x \in G\} \\ &= \{g \in G \mid [g, G] \leq K\} \end{aligned}$$

which is a subgroup of  $G$ , and *the centralizer of  $x$  modulo  $K$*  as

$$X_G(xK) := \langle g \in G \mid [g, x] \in K \rangle$$

which will be useful in the sequel. If we take  $Z(G//K) = Z$ , then  $Z$  is normal in  $G$  and  $Z(G/Z) = 1$ , whenever  $G$  is perfect. But if  $K^G = G$ , then  $K$  is not contained in  $Z$ . This makes some difficulties (namely in the proof of Lemma 4), so we should work with subgroups modulo  $K$ .

In the present note we also answer the following question positively:

Does there exist a locally nilpotent perfect group  $G$  having a proper subgroup  $V$  which does not normalize any non-trivial finitely generated subgroup of  $G$ ?

The question arises from [1] with the work on minimal non-soluble Fitting- $p$ -groups. In [1], it is seen that such groups have a proper subgroup which satisfies the property in question. We wondered that such groups really exist. In the present work we shall show that the McLain group  $M := M(Q, F)$  for a field  $F$  satisfies the property in question (see [11, p.361]), as the following theorem states:

**Theorem 2** *The group  $M$  has a proper subgroup  $V$  which does not normalize any non-trivial finitely generated subgroup of  $M$ . In particular,  $C_M(V) = \{1\}$ .*

## 2 Proof of Theorem 1

In [1] and [5], some versions of the following lemma have been proved. However, next statement does not include any imposition to homomorphic images, so that it is a direct result.

**Lemma 3** *Let  $G$  be an MNG Fitting  $p$ -group for some prime  $p$ . Then for every finite subgroup  $U$  and every proper subgroup  $L$ , we have*

$$\bigcap_{y \in G \setminus L} \langle U, y \rangle = U.$$

PROOF — Assume that the assertion is false and so

$$\bigcap_{y \in G \setminus L} \langle U, y \rangle \neq U$$

for some finite subgroup  $U$  and a proper subgroup of  $L$  of  $G$ . Take

$$a \in \left( \bigcap_{y \in G \setminus L} \langle U, y \rangle \right) \setminus U.$$

Now,  $G$  has an ascending sequence of finite subgroups  $F_i$ , for  $i \geq 1$ , such that

$$G = \bigcup_{i \geq 1} F_i^G.$$

For all  $i \geq 1$ ,  $N_i := F_i^G$  is nilpotent of finite exponent. Since  $L$  is soluble and  $G$  is perfect, we have that there is a positive integer  $r$  such that  $N_r / (N_r \cap L)N_r'$  is infinite. We may also assume that  $\langle a, U \rangle \leq N_r$ . Put

$$S_r := (N_r \cap L)N_r' \quad \text{and} \quad K/S_r := \text{Frat}(N_r / (N_r \cap L)N_r').$$

Now  $N_r/K$  is infinite elementary abelian. By [8, Satz 6],  $N_r$  has a subgroup  $V$  such that  $U \leq V$ ,  $VK/K$  is infinite and  $a \notin V$ . Hence there is an element  $z \in V \setminus K$  such that  $a \notin \langle U, z \rangle$ . But since  $N_r \cap L \leq K$ , we have that  $z \notin L$ , and this is a contradiction. □

Define  $\delta_0(x) = x$  and

$$\delta_n(x_1, x_2, \dots, x_{2n}) = [\delta_{n-1}(x_1, x_2, \dots, x_{2n-1}), \delta_{n-1}(x_{2n-1+1}, \dots, x_{2n})]$$

for  $n \geq 1$ . Then a group  $G$  is soluble of derived length  $d$  if and only if  $\delta_d(g_1, g_2 \dots, g_{2^d}) = 1$  for all  $g_1, g_2 \dots, g_{2^d} \in G$ .

Inspired by [9, Lemma 4] we prove the following critical lemma.

**Lemma 4** *Let  $G$  be an MNS Fitting  $p$ -group for some prime  $p$ . Then  $G$  has a proper subgroup  $K$  such that  $Z(G/R) \not\leq R$  whenever  $K \leq R < G$ . In other words,  $X_G(gR) = G$  for some  $g \in G \setminus R$ .*

PROOF — Assume that the assertion is false. We shall prove that for every proper subgroup  $K$  and for every finite subgroup  $U$  of  $G$ , for  $\alpha \in G \setminus U$  and for every outer commutator word  $\psi(x_1, \dots, x_n)$ ,  $n \geq 1$ , there exist elements  $y_1, \dots, y_n \in G$  such that  $\psi(y_1, \dots, y_n) \notin K$  and  $\alpha \notin \langle U, y_1, \dots, y_n \rangle$ . By Lemma 3, we have

$$\bigcap_{y \in G \setminus K} \langle U, y \rangle = U$$

and thus there is  $y_1 \in G \setminus K$  such that  $\alpha \notin \langle U, y_1 \rangle$  and  $\psi(y_1) = y_1 \notin K$ . So the assertion is true for  $n = 1$ . By assumption,  $G$  has a proper subgroup  $R$  such that  $Z(G/R) \leq R$ . Let

$$\psi(x_1, \dots, x_m, x_{m+1}, \dots, x_n) = [\varphi(x_1, \dots, x_m), \chi(x_{m+1}, \dots, x_n)].$$

By induction hypothesis there are  $y_1, \dots, y_m \in G$  such that

$$\alpha \notin \langle U, y_1, \dots, y_m \rangle \quad \text{and} \quad \varphi(y_1, \dots, y_m) \notin R.$$

Now  $X_G(\varphi(y_1, \dots, y_m)R) \neq G$  by assumption. By induction hypothesis  $G$  has elements  $y_{m+1}, \dots, y_n$  such that

$$\alpha \notin \langle U, y_1, \dots, y_m, y_{m+1}, \dots, y_n \rangle$$

and

$$\chi(y_{m+1}, \dots, y_n) \notin X_G(\varphi(y_1, \dots, y_m)R).$$

Hence

$$\begin{aligned} & \psi(y_1, \dots, y_m, y_{m+1}, \dots, y_n) \\ &= [\varphi(y_1, \dots, y_m), \chi(y_{m+1}, \dots, y_n)] \notin R \geq K. \end{aligned}$$

So the induction is complete.

By the above argument, we can find elements

$$y_{1,1}, y_{1,2}; \dots; y_{i,1}, y_{i,2}, \dots, y_{i,2^i}; \dots$$

in  $G$  such that

$$\alpha \notin X := \langle y_{i,1}, y_{i,2}, \dots, y_{i,2^i} \mid i \geq 1 \rangle \quad \text{and} \quad \delta_i(y_{i,1}, y_{i,2}, \dots, y_{i,2^i}) \neq 1$$

for every  $i \geq 1$ . But then  $X$  is a non-soluble proper subgroup of  $G$ , which is a contradiction.  $\square$

PROOF OF THEOREM 1 — Let  $K$  be the subgroup defined in the statement of Lemma 4 and let  $R$  be a proper subgroup of  $G$  containing  $K$ . Then by Lemma 4, there is  $g \in G \setminus R$  such that  $X_G(gR) = G$ . Then  $[g, G] \leq R$  and in particular  $[g, R] \leq R$ . This means that  $g$  belongs to  $N_G(R) \setminus R$ . Hence the theorem is proved.  $\square$

### 3 Proof of Theorem 2

Throughout this section, let  $M := M(\mathbb{Q}, F)$  for a field  $F$ . Then  $M$  is a characteristically simple, locally nilpotent group (see [11, 12.1.9]). Hence  $Z(M) = 1$  and  $M$  is perfect. Furthermore, if  $F$  has characteristic 0, then  $M$  is torsion-free and if  $F$  has characteristic  $p$  for some prime  $p$ , then  $M$  is a  $p$ -group. Also  $M$  is not finitely generated and has no proper subgroup of finite index.

Let us consider the following definitions, which are given in [7] and will be used in the sequel.

Let  $g = 1 + \sum_{\lambda, \mu} c_{\lambda, \mu} e_{\lambda, \mu} \in M$ . Define

$$[g] = \{(\lambda, \mu) : c_{\lambda, \mu} \neq 0\},$$

the *support* of  $g$ ,

$$[g]_1 = \{\lambda \in \mathbb{Q} : \text{there exists } \mu \in \mathbb{Q} \text{ such that } (\lambda, \mu) \in [g]\},$$

the *1-support* of  $g$ , and

$$[g]_2 = \{\mu \in \mathbb{Q} : \text{there exists } \lambda \in \mathbb{Q} \text{ such that } (\lambda, \mu) \in [g]\},$$

the *2-support* of  $g$ .

Let  $R$  be a subgroup of  $M$ . We define

$$S(R) := \left( \bigcup_{g \in R} [g]_1 \right) \cup \left( \bigcup_{g \in R} [g]_2 \right).$$

Before embarking on the proof of Theorem 2, but first we give some properties of  $M$ .

**Lemma 5** *For every finitely generated subgroup  $F$  and every proper subgroup  $K$  of  $M$ , we have*

$$\langle F, K \rangle \neq M.$$

PROOF — Assume that  $M = \langle F, K \rangle$  for a non-trivial finitely generated subgroup  $F$  and a proper subgroup  $K$  of  $M$ . Now, we may assume that  $M = \langle K, x \rangle$  for some  $x \in G \setminus K$ . But this implies that  $M$  has a maximal subgroup, a contradiction.  $\square$

**Lemma 6** *For every finitely generated subgroup  $U$  and every proper subgroup  $L$  of  $M$ , we have*

$$\bigcap_{y \in M \setminus L} \langle U, y \rangle = U.$$

PROOF — Assume that the result is false. Then there is a finitely generated subgroup  $U$  and a proper subgroup  $L$  of  $G$  such that

$$\bigcap_{y \in M \setminus L} \langle U, y \rangle \neq U$$

and hence there is an element

$$\alpha \in \left( \bigcap_{y \in M \setminus L} \langle U, y \rangle \right) \setminus U.$$

Let  $\alpha = 1 + c_1 e_{\sigma_1, \tau_1} + \cdots + c_s e_{\sigma_s, \tau_s}$ . Clearly,  $L$  does not contain all generators of  $M$  of the form  $1 + de_{\alpha, \beta}$ . Since  $\alpha \notin U$  and  $\alpha \in \langle U, y \rangle$  for every  $y \in M \setminus L$ , such a generator which is not contained in  $L$  must be of the form  $1 + ge_{\sigma_i, \delta}$  or  $1 + he_{\gamma, \tau_i}$  for some  $1 \leq i \leq s$ . Since these generators must supplement the elements of  $U$  to generate  $\alpha$ , we have  $\delta, \gamma \in S(U)$ , i.e.  $M \setminus L$  contains only finitely many generators of  $M$  of the form  $1 + de_{\alpha, \beta}$ . This yields  $M = \langle F, L \rangle$  for some finite set  $F$ . But this contradicts Lemma 5.  $\square$

**Theorem 7** *If  $\{S_i \mid i \geq 1\}$  is a set of proper subgroups of  $M$ , then  $M$  has a proper subgroup  $V$  such that  $V \not\subseteq S_i$  for all  $i \geq 1$ .*

PROOF — By Lemma 6

$$\bigcap_{y \in M \setminus S_1} \langle y \rangle = 1.$$

Let  $1 \neq a \in M$ , then there exists an element  $y_1 \in M \setminus S_1$  such that  $a \notin \langle y_1 \rangle$ . Assume that we have elements  $y_1, \dots, y_n$  such that

$$a \notin \langle y_1, \dots, y_n \rangle \quad \text{and} \quad y_i \notin S_i$$

for every  $1 \leq i \leq n$ . By Lemma 5,  $\langle S_n, y_1, \dots, y_n \rangle \neq M$  and also by Lemma 6

$$\bigcap_{y \in M \setminus \langle S_n, y_1, \dots, y_n \rangle} \langle y_1, \dots, y_n, y \rangle = \langle y_1, \dots, y_n \rangle.$$

Hence there exists  $y_{n+1} \in M \setminus \langle S_n, y_1, \dots, y_n \rangle$  such that  $y_{n+1} \notin S_{n+1}$  and  $a \notin \langle y_1, \dots, y_n, y_{n+1} \rangle$ .

Now put  $V := \langle y_i : i \geq 1 \rangle$ . Then  $a \notin V$  and so  $V \neq M$ . Since  $y_i \notin S_i$ , we have that  $V \not\leq S_i$  for all  $i \geq 1$ . Consequently,  $V$  is the desired subgroup of  $M$ . □

PROOF OF THEOREM 2 — Since  $M$  is countable, the set  $Y$  of its finite subsets  $A$  is also countable. By considering the mapping  $f$  which assigns to each  $A$  the subgroup  $\langle A \rangle$ , which is well-defined and surjective, we see that the set of finitely generated subgroups of  $M$  is countable. Now, considering the mapping  $g$  which assigns to each finitely generated subgroup  $F$  of  $M$  its normalizer in  $M$ , which is well-defined and surjective, we see that the set  $X$  of normalizers in  $M$  of finitely generated subgroups of  $M$  is countable. If  $N_M(F) = M$  for some  $F$ , then  $M/C_M(F)$  is a non-trivial polycyclic group by [10, Theorem 3.27] and hence  $M = C_M(F)K$ , where  $K$  is finitely generated, which contradicts Lemma 5. Hence, it follows from Theorem 7 that  $M$  has a proper subgroup  $V$  such that  $V \not\leq N_M(F)$  for every non-trivial finitely generated subgroup  $F$  of  $M$ . Therefore  $V$  does not normalize any non-trivial finitely generated subgroup of  $M$  and in particular  $C_M(V) = \{1\}$ . □

**Corollary 8** *If  $V$  is defined as in Theorem 2, then*

$$|Q \setminus S(V)| < 2.$$

PROOF — Assume that  $|\mathbb{Q} \setminus S(V)| \geq 2$ , then there are  $\alpha, \beta \in \mathbb{Q} \setminus S(V)$  such that  $\alpha < \beta$ . Now  $1 + e_{\alpha, \beta} \in C_M(V)$ , a contradiction.  $\square$

We have shown in a theoretical background that  $M$  has a subgroup satisfying the property considered in the introduction. But according to the account of the proof, the following McLain group may be an example of  $V$ . We will need a simple conjugation calculation, but before doing it, we give some general calculations in McLain groups for the convenience of the readers.

**Lemma 9** *Let  $v := 1 + \sum_{j=1}^m d_j e_{\sigma_j, \tau_j} \in M$ . Then*

$$\begin{aligned} v^{-1} = w := & 1 - \sum_{j=1}^m d_j e_{\sigma_j, \tau_j} + \sum_{\substack{1 \leq s_1, s_2 \leq m \\ \tau_{s_1} = \sigma_{s_2}}} d_{s_1} d_{s_2} e_{\sigma_{s_1}, \tau_{s_2}} + \\ & - \sum_{\substack{1 \leq s_1, s_2, s_3 \leq m \\ \tau_{s_1} = \sigma_{s_2} \\ \tau_{s_2} = \sigma_{s_3}}} d_{s_1} d_{s_2} d_{s_3} e_{\sigma_{s_1}, \tau_{s_3}} + \dots + (-1)^k \sum_{\substack{1 \leq s_1, \dots, s_k \leq m \\ \tau_{s_1} = \sigma_{s_2} \\ \vdots \\ \tau_{s_{k-1}} = \sigma_{s_k}}} d_{s_1} \dots d_{s_k} e_{\sigma_{s_1}, \tau_{s_k}} \end{aligned}$$

for some  $k \leq m$ .

PROOF — Since we have

$$\begin{aligned} \left( \sum_{j=1}^m d_j e_{\sigma_j, \tau_j} \right) \left( \sum_{j=1}^m d_j e_{\sigma_j, \tau_j} \right) &= \sum_{\substack{1 \leq s_1, s_2 \leq m \\ \tau_{s_1} = \sigma_{s_2}}} d_{s_1} d_{s_2} e_{\sigma_{s_1}, \tau_{s_2}}, \\ \left( \sum_{\substack{1 \leq s_1, \dots, s_i \leq m \\ \tau_{s_1} = \sigma_{s_2} \\ \vdots \\ \tau_{s_{i-1}} = \sigma_{s_i}}} d_{s_1} \dots d_{s_i} e_{\sigma_{s_1}, \tau_{s_i}} \right) \left( \sum_{j=1}^m d_j e_{\sigma_j, \tau_j} \right) &= \sum_{\substack{1 \leq s_1, \dots, s_{i+1} \leq m \\ \tau_{s_1} = \sigma_{s_2} \\ \vdots \\ \tau_{s_i} = \sigma_{s_{i+1}}} d_{s_1} \dots d_{s_{i+1}} e_{\sigma_{s_1}, \tau_{s_{i+1}}} \end{aligned}$$



for all  $1 < i < k$  and

$$\left( \sum_{\substack{1 \leq s_1, \dots, s_i \leq m \\ \tau_{s_1} = \sigma_{s_2} \\ \vdots \\ \tau_{s_{k-1}} = \sigma_{s_k}}} d_{s_1} \dots d_{s_k} e_{\sigma_{s_1}, \tau_{s_k}} \right) \left( \sum_{j=1}^m d_j e_{\sigma_j, \tau_j} \right) = 0,$$

we get that  $wv = 1$ . □

For instance, if we take

$$v := 1 + 3e_{0,1} + 2e_{1,4} + 4e_{-1,0} + 2e_{6,7} \in M(\mathbb{Q}, \text{GF}(5)),$$

then

$$\begin{aligned} v^{-1} &= 1 - 3e_{0,1} - 2e_{1,4} - 4e_{-1,0} - 2e_{6,7} + e_{0,4} + 2e_{-1,1} - 4e_{-1,4} \\ &= 1 + 2e_{0,1} + 3e_{1,4} + e_{-1,0} + 3e_{6,7} + e_{0,4} + 2e_{-1,1} + e_{-1,4}. \end{aligned}$$

**Lemma 10** *Let*

$$u := 1 + \sum_{i=1}^r c_i e_{\alpha_i, \beta_i}, \quad v := 1 + \sum_{j=1}^m d_j e_{\sigma_j, \tau_j} \in M.$$

*Then*

$$\begin{aligned} u^v &= 1 + \sum_{i=1}^r c_i e_{\alpha_i, \beta_i} - \sum_{\substack{1 \leq s_1 \leq m \\ 1 \leq s_2 \leq r \\ \tau_{s_1} = \alpha_{s_2}}} d_{s_1} c_{s_2} e_{\sigma_{s_1}, \beta_{s_2}} + \\ &+ \sum_{\substack{1 \leq s_1, s_2 \leq m \\ 1 \leq s_3 \leq r \\ \tau_{s_1} = \sigma_{s_2} \\ \tau_{s_2} = \alpha_{s_3}}} d_{s_1} d_{s_2} c_{s_3} e_{\sigma_{s_1}, \beta_{s_3}} + \dots + (-1)^k \sum_{\substack{1 \leq s_1, \dots, s_k \leq m \\ 1 \leq s_{k+1} \leq r \\ \tau_{s_1} = \sigma_{s_2} \\ \vdots \\ \tau_{s_{k-1}} = \sigma_{s_k} \\ \tau_{s_k} = \alpha_{s_{k+1}}} d_{s_1} \dots d_{s_k} c_{s_{k+1}} e_{\sigma_{s_1}, \beta_{s_{k+1}}} + \\ &+ \sum_{\substack{1 \leq s_1 \leq r \\ 1 \leq s_2 \leq m \\ \beta_{s_1} = \sigma_{s_2}}} c_{s_1} d_{s_2} e_{\alpha_{s_1}, \tau_{s_2}} - \sum_{\substack{1 \leq s_1, s_3 \leq m \\ 1 \leq s_2 \leq r \\ \tau_{s_1} = \alpha_{s_2} \\ \beta_{s_2} = \sigma_{s_3}}} d_{s_1} c_{s_2} d_{s_3} e_{\sigma_{s_1}, \tau_{s_3}} + \end{aligned}$$

$$\begin{aligned}
& + \sum_{\substack{1 \leq s_1, s_2, s_4 \leq m \\ 1 \leq s_3 \leq r \\ \tau_{s_1} = \sigma_{s_2} \\ \tau_{s_2} = \alpha_{s_3} \\ \beta_{s_3} = \sigma_{s_4}}} d_{s_1} d_{s_2} c_{s_3} d_{s_4} e_{\sigma_{s_1}, \tau_{s_4}} + \dots + \\
& + (-1)^k \sum_{\substack{1 \leq s_1, \dots, s_k, s_{k+2} \leq m \\ 1 \leq s_{k+1} \leq r \\ \tau_{s_1} = \sigma_{s_2} \\ \vdots \\ \tau_{s_{k-1}} = \sigma_{s_k} \\ \tau_{s_k} = \alpha_{s_{k+1}} \\ \beta_{s_{k+1}} = \sigma_{s_{k+2}}} d_{s_1} \dots d_{s_k} c_{s_{k+1}} d_{s_{k+2}} e_{\sigma_{s_1}, \tau_{s_{k+1}}}
\end{aligned}$$

for some  $k \leq m$ .

PROOF — Since we have

$$\begin{aligned}
& u^v = 1 + v^{-1}(u-1) + v^{-1}(u-1)(v-1) \\
& = 1 + v^{-1} \left( \sum_{i=1}^r c_i e_{\alpha_i, \beta_i} \right) + v^{-1} \left( \sum_{i=1}^r c_i e_{\alpha_i, \beta_i} \right) \left( \sum_{j=1}^r c_j e_{\alpha_j, \beta_j} \right),
\end{aligned}$$

the result follows after using Lemma 9 and a straightforward calculation.  $\square$

Now, we return to the promised examples. Put  $M_\alpha := M(\mathbb{Q} \setminus \{\alpha\}, F)$  for each  $\alpha \in \mathbb{Q}$ . Assume that  $E$  is a non-trivial finitely generated subgroup of  $M$ . We will show that  $M_\alpha$  does not normalize  $E$ . Since  $S(E)$  is finite, there exist  $\theta_1, \theta_2 \in \mathbb{Q} \setminus (S(E) \cup \{\alpha\})$  such that  $\theta_1 < \lambda < \theta_2$  for all  $\lambda \in S(E)$ . Also there exists  $\lambda \in S(E)$  such that  $\lambda \neq \alpha$ . Hence  $1 + e_{\theta_1, \lambda}, 1 + e_{\lambda, \theta_2} \in M_\alpha$ , and either  $g_1 = 1 + e_{\lambda, \beta_1}$  or  $g_2 = 1 + e_{\beta_2, \lambda}$  belongs to  $E$  for some  $\beta_1, \beta_2 \in \mathbb{Q}$ . Since

$$g_1^{1+e_{\theta_1, \lambda}} = 1 + e_{\lambda, \beta_1} - e_{\theta_1, \beta_1} \notin E$$

and

$$g_2^{1+e_{\lambda, \theta_2}} = 1 + e_{\beta_2, \lambda} - e_{\beta_2, \theta_2} \notin E,$$

by Lemma 10, for each  $\alpha \in \mathbb{Q}$ ,  $M_\alpha$  does not normalize any nontrivial finitely generated subgroup of  $M$  and hence  $M_\alpha$  is a desired subgroup of  $M$ .

Now, put

$$V_1 := \langle M_\alpha, 1 + e_{\sigma, \alpha} \mid \sigma < \alpha \rangle.$$

Then  $1 + e_{\alpha, \beta} \notin V_1$  for every  $\beta > \alpha$ . Hence  $V_1 \neq M$ , but  $S(V_1) = Q$  (this is also an example of a subgroup of  $M$  such that  $S(V_1) = Q$  but  $V_1 \neq M$ ). By a similar approach, it can be seen that  $V_1$  normalizes no finitely generated subgroups of  $M$ . So  $V_1$  is another desired example.

## REFERENCES

- 
- [1] A. ARIKAN: "Characterizations of minimal non-solvable Fitting-p-groups", *J. Group Theory* 11 (2005), 95–103.
  - [2] A. ARIKAN – S. SEZER – H. SMITH: "On locally finite minimal non-solvable groups", *Central Europ. J. Math.* 8 (2010), 266–273.
  - [3] A. ARIKAN – A. ARIKAN: "On Fitting p-groups with all proper subgroups satisfying a commutator law", *J. Algebra* 352 (2012), 341–346.
  - [4] A.O. ASAR: "Locally nilpotent p-groups whose proper subgroups are hypercentral or nilpotent-by-Chernikov", *J. London. Math. Soc.* 61 (2000), 412–422.
  - [5] A.O. ASAR: "On infinitely generated groups whose proper subgroups are solvable", *J. Algebra* 399 (2014), 870–886.
  - [6] A.O. ASAR: "On Fitting groups whose proper subgroups solvable", *Int. J. Group Theory* 5 (2016), 7–24.
  - [7] M. DROSTE – R. GÖBEL: "McLain groups over arbitrary ring and orderings", *Math. Proc. Cambridge Phil. Soc.* 117 (1995), 439–467.
  - [8] W. MÖHRES: "Torsionsgruppen, deren Untergruppen alle subnormal sind", *Geom. Dedicata* 31 (1989), 237–244.
  - [9] W. MÖHRES: "Auflösbarkeit von Gruppen, deren Untergruppen alle subnormal sind", *Arch. Math. (Basel)* 54 (1990), 232–235.
  - [10] D.J.S. ROBINSON: "Finiteness Conditions and Generalized Soluble Groups", *Springer, Berlin* (1972).

- [11] D.J.S. ROBINSON: "A Course in the Theory of Groups", *Springer*, Berlin (1982).
- 

Ahmet Arıkan

Gazi Eğitim Fakültesi, Matematik Eğitimi Anabilim Dalı

Gazi Üniversitesi

06500 Teknikokullar, Ankara (Turkey)

e-mail: arikan@gazi.edu.tr